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N Grey line: exponential fit Peak flux: 6.676+/- 1.175 c/s/cm® ]
— Black line: power law + gauss fit Fluence : 46.78+/- 12.94 c/lcm? —
= Dashed line: power law o ' ’ —
| Duration: 11.25+/- 3.07 s ]
~ Best fit model: 2. i
B Best fluence model: 2. i
— } Best duration model: 2. —
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; Exponential fit é
= Expon.time: 5.98+/- 1.28s (chi*-red= 1.20) =
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; Power law fit é
= Power law index: -1.438+/- 0.183 (chi’-red= 1.20) 3
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— Power law fit plus Gaussian (st.dev.= 15.03+/- 5.61 s, fracgs= 0.64+/- 0.44) =
- Power law index: -2.159+/- 0.812 (chi*-red= 1.19) 7
E bl b b b g Ho b bt g iy - Hg
= i Hﬁ“:ﬁ“ i W Hﬂﬁ i ﬁ gfﬁ | Ww i W:ﬁ b MHW w bt W i f W W i *ﬂwﬁﬁ Hﬁ%
E | I I I I I I I I I | I I | I I E

0 100 200 30

0



